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Mathematics our numbers

MULTIPLE CHOICE QUESTIONS

Q1; How many ten thousands in 1 lakh?
a)l0  b) 100 ¢) 1000 d) 10000
Q2; The smallest 6 digit number is ;
a)One thousand b) ten thousand c¢) one lakh d) ten lakh
Q3; The smallest four digit number formed by using digits 8,4,2 and 0 is;
a)8420 b)2084 )0248 d)2048
Q4; 90 in Roman numerals is;
a)XL b)XC c)CX d)LX
Q5; 5x 10000+ 8 x 1000+ 6x 100+ 0x 10+ 5 x 1 is same as;
a)5865 b) 58605 c) 58650 d) 586506
Q6;Arrange the numbers in ascending order;1500,2500,1100,6800;
2)6800,2500,1500,1100 b)1500,1100,6800,2500
c) 1100,1500,2500,6800 d)6800,2500,1100,1500
Q7;The place value of 4 in 5,74,698 is

a)4 b)400 €)4000  d)40




Q8; When 1 is added to 99999 we get;
a)smallest 5- digit b) smallest 6-digit
c) largest 5- digit d) largest 6- digits
Q9; Which is the smallest whole numbers;
a)l b) 2 c)3 d) 0
Q10;The difference between the largest 5digit number and smallest 5digit

number is;

2)80,000 b) 89,999 ¢) 90,000 d) 99,999

Answers;

1.a 2. ¢ 3.d 4.b 5.b 6.c 7.c 8.b 9.d 10.





